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Multiplying by a Monomial 
Name_____________________________________________ 
Directions: Answer these questions pertaining to polynomials.   

1.  Multiply:   3 2(8 )(4 )a a    

    [1]  532a        [2]  512a      [3] 632a       [4]  612a      

 

 

2.  Multiply:    2 3( 3 )x   

     [1]  59x            [2]  69x         [3]  527x     [4]  627x    

 

 

3.  Multiply:   2 4 2( 5 )( 3 )m n m n    

     [1]  8 215m n       [2]  6 315m n       [3]  8 215m n     [4]  6 315m n    

 

 

4.  Multiply:   2 3 2(3 )(2 )( 4 )x x x   

     [1]  1224x       [2]  724x       [3]  824x      [4]  624x   

 

 

5.  Multiply:   2 3 13 1
( 5w )
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6.  Multiply:    3 23 (3 4 )b b b   

     [1]  4 39 12b b     [2]  3 29 12b b     [3]  4 39 12b b   [4]  3 29 12b b      

 

 

7.  Find:   2 23 (2 2)xy x y   

     [1]  2 26 3 6x y xy xy         [2] 3 2 2 36 3 6x y x y xy   

  [3]  3 36 3 6x y            [4]  3 36 3 6x y xy xy   

 

 

8.  Simplify:   2(6 )(3 4) 5x x x   

     [1]  318 19x x       [2]  3 218 30 24x x x    [3]  318 29x x   [4]  318 19x x  
 
 

 

 

9.   Simplify:    8a – 2(4a – a) 
     [1]  8a + 1   [2] -2a     [3]  4a      [4]  2a   

 

 

 

10.  Which choice is NOT equivalent to:     25 (4 2 )x x x  

     [1] 3 220 10x x     [2] 25 (4 2)x x        [3] 35 (4 2)x x      [4] 210 (2 1)x x   
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